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Question 1 (3 marks)

correct shape A1

The y-coordinate is (0, 2). A1

The horizontal asymptotes are . A1

Question 2 (3 marks)

The equations of motion are T – 2g = 2a and 4g – T = 4a. A1

Attempting to solve for a and T, M1

 and A1

Question 3 (4 marks)
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b. Method 1:

Method 2:

Question 4 (4 marks) 

a. E( ) = 30 A1

b.

c. E( ) = 30 (unchanged as it is independent of n) A1

sd( ) is reduced by a factor of A1

Question 5 (3 marks)

Hence the equation  represents a straight line.
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Question 6 (5 marks)

a. Let  and so . A1

b.

And so .

Question 7 (6 marks)

a. M1
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b.
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Question 8 (4 marks)

The denominator has an irreducible quadratic factor and a single linear factor. Hence there are two 
partial fractions.

A1

EITHER

Attempting to find the values of A, B and C. M1

Substituting x = 2 gives:

6 = 6C  C = 1

Substituting x = 0 for example with C = 1 gives:

0 = –2B + 2  B = 1

Substituting x = 1 for example with B = 1 and C = 1 gives:

2 = –1 – A + 3  A = 0

So A = 0, B = 1 and C = 1.

OR

x
2
 + x = (A + C)x

2
 + (–2A + B)x + (–2B + 2C)

Attempting to equate coefficients: M1

Solving gives A = 0, B = 1 and C = 1.

THEN

M1 A1

Question 9 (3 marks)
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Question 10 (5 marks)

A1
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At . M1

The equation of the tangent is . A1
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